Efficiency vs P,

0.5

vs p
o
>
a1

AR AR AR LU AR R RRN LR RN RRRRN RARRN LARLE RRRLN LRRR

©
»

0.35]

ernciency

©
w

o 0 1 TTTF
= B
¢ : T
¥ 1.05 1 1 S EEE R R R SRR
- L)
- T A e
-+ HESC IR

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_TT _original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
—— DQM_TT__mod_modelsdeep_something3

= 05 - - T T T
» : : : : :
L S S Rt ST

> TE
g F : : : : :
§ OAp
3] F : : : : :
£0.35---- e AR preee
@ E : : : :

0.3 Froserredeeeeees Foereredeneeeees AR

e

o

o ©
[$2 BN
TTT IIIII
=
.ol

4+
- o
» s
- e
i
- u
- o
+
T

o 0.2
Y :
20.18F
Q F:
20.16¢
o -
£0.14F
o :

0.12F
0.1
0.08F -
0.06f%
0.04f-{-
0.02F

il T+ i

g i T :
g
1 2 3




	Contents
	Page 1


